Algebra

Look at the following questions. I want you to find the answer based on the values of a, b, c, d I give you 

a=3 b=5 c=2 d= 8

a+b= 8
b+d= 13
c+d= 10
d-a= 5
b-a= 2
a-c= 1
4a= 12
5b= 25
2c= 4
ab= 15    

cd= 16
ab+cd= 31
bc+ca= 26
d/2= 4
ab/3= 5
ad/c= 12
Now I want you to work backwards. I want you to find the value of the letter in each case (n will be different in every case)

4n=16 n = 4
n+5=20 n = 15
2n+10=16 n = 3
n/5=30 n =150
2n/5=30  n = 3
n2=25  n = 5
3n-4=20  n = 8
n=12+14 n = 26
2n=4+20 n = 12
n/2=20 n = 10
3n2=75 = n = 5
3n-n=10  n = 5









